ON JORDAN LEFT DERIVATIONS AND GENERALIZED JORDAN LEFT DERIVATIONS OF MATRIX RINGS

N. M. GHOSSEIRI

Communicated by Omid Ali S. Karamzadeh

ABSTRACT. Let R be a 2-torsion free ring with identity. In this paper, first we prove that any Jordan left derivation (hence, any left derivation) on the full matrix ring $M_n(R)$ ($n \geq 2$) is identically zero, and any generalized left derivation on this ring is a right centralizer. Next, we show that if R is also a prime ring and $n \geq 1$, then any Jordan left derivation on the ring $T_n(R)$ of all $n \times n$ upper triangular matrices over R is a left derivation, and any generalized Jordan left derivation on $T_n(R)$ is a generalized left derivation. Moreover, we prove that any generalized left derivation on $T_n(R)$ is decomposed into the sum of a right centralizer and a Jordan left derivation. Some related results are also obtained.

1. Introduction

Throughout, R will represent an associative ring with center Z(R). A ring R is n-torsion free, where n>1 is an integer, in case $nx=0, x\in R$ implies x=0. A ring R is prime if for $a,b\in R, aRb=0$ implies that either a=0 or b=0, and is semiprime if aRa=0 implies that a=0. An additive mapping $D:R\to R$, with R is an arbitrary ring, is called a derivation if D(xy)=D(x)y+xD(y) holds for all pairs $x,y\in R$,

 $[\]operatorname{MSC}(2010)\colon$ Primary: 16S50; Secondary: 16W25.

Keywords: Prime ring, left derivation, Jordan left derivation, generalized left derivation, generalized Jordan left derivation.

Received: 10 August 2010, Accepted: 2 March 2011.

[©] 2012 Iranian Mathematical Society.

and is called a Jordan derivation in case $D(x^2) = D(x)x + xD(x)$ is fulfilled for all $x \in R$. Obviously, any derivation is a Jordan derivation. The converse is in general not true. A classical result of Herstein [14] asserts that any Jordan derivation on a prime ring of characteristic different from two is a derivation. A brief proof of Herstein's result can be found in [8]. Cusack [10] generalized Herstion's theorem to 2torsion free semiprime rings (see [6] for an alternative proof). It should be mentioned that Beidar, Brešar, Chebotar and Martidale [3] fairly generalized Herstein's theorem. Let R be a ring and let M be a left Rmodule. An additive mapping $D: R \to M$ is said to be a left derivation if D(xy) = xD(y) + yD(x) holds for all pairs $x, y \in R$, and is said to be a Jordan left derivation (or left Jordan derivation) if $D(x^2) = 2xD(x)$ is fulfilled for all $x \in R$. Obviously, any left derivation is a Jordan left derivation, but in general the converse is not true (see [25], Example 1.1). The concepts of left derivation and Jordan left derivation were introduced by Brešar and Vukman in [9]. One can easily prove that the existence of a nonzero left derivation $D: R \to R$, where R is a prime ring of characteristic different from two, forces the ring R to be commutative. Moreover, any Jordan derivation, which maps a noncommutative prime ring R of characteristic different from two into itself, is zero. This result was first proved by Brešar and Vukman in [9] under the additional assumption that R is also of characteristic different from three. Later on, Deng [11] removed the assumption that R is of characteristic different from three. (See also [17].) Recently, Vukman [21] has proved that in case $D: R \to R$ is a Jordan left derivation, where R is a 2-torsion free semiprime ring, then D is a derivation which maps R into Z(R). For results concerning Jordan left derivations we refer the readers to [9, 11, 15, 16, 17, 18, 19, 21]. An additive mapping $T: R \to R$, where R is an arbitrary ring, is called a *left centralizer* in case T(xy) = T(x)yholds for all pairs $x, y \in R$. In case R has an identity element, $T: R \to R$ is a left centralizer iff T is of the form T(x) = ax for all $x \in R$ and some fixed element $a \in R$. An additive mapping $T: R \to R$ is called a *left* Jordan centralizer in case $T(x^2) = T(x)x$ holds for all $x \in R$. The definitions of right centralizer and right Jordan centralizer should be self explanatory. An additive mapping $T: R \to R$ is called a two-sided centralizer in case T is a left and a right centralizer. Following ideas from [6], Zalar [26] has proved that any left (right) Jordan centralizer on a semiprime ring is a left (right) centralizer. Vukman [18] has proved that if there exists an additive mapping $T: R \to R$, where R is a 2-torsion

free semiprime ring, satisfying the relation $2T(x^2) = T(x)x + xT(x)$ for all $x \in R$, then T is a two-sided centralizer. For results concerning centralizers the readers are referred to [4, 5, 12, 18, 22, 23, 24] for more references. An additive mapping F, which maps a ring R into itself, is called a generalized derivation in case F(xy) = F(x)y + xD(y) holds for all pairs $x, y \in R$, where $D: R \to R$ is a derivation. Clearly, any generalized derivation is a generalized Jordan derivation, but the converse is not necessarily true. The concept of generalized derivation, which has been introduced by Brešar [7], covers two concepts: the concept of derivation and the concept of left centralizer. Indeed, it is easy to see that generalized derivations are exactly those additive mappings Fwhich can be written in the form F = D + T, where D is a derivation and T is a left centralizer (see also Theorems 2.2 and 2.8 below). An additive mapping $F: R \to R$ is called a generalized Jordan derivation in case $F(x^2) = F(x)x + xD(x)$ holds for all $x \in R$, where $D: R \to R$ is a Jordan derivation. The concept of generalized Jordan derivation has been introduced by Jing and Lu [16]. They conjectured that any generalized Jordan derivation, which maps a 2-torsion free semiprime ring into itself, is a generalized derivation. This conjecture was proved by Vukman [19]. Let M be a left R-module. An additive mapping $G: R \to M$ is said to be a generalized left derivation (resp. generalized Jordan left derivation) if there exists a Jordan left derivation $D: R \to M$ such that G(xy) = xG(y) + yD(x) (resp. $G(x^2) = xG(x) + xD(x)$) for all x, y in R. Obviously, any generalized left derivation is a generalized Jordan left derivation, but the converse may not hold in general (see Example 1.1 in [1]).

The main result of this article are as follows. First, we prove that if R is a 2-torsion free ring with identity, then any Jordan left derivation (hence, any left derivation) on the full matrix ring $M_n(R)$ ($n \geq 2$) is identically zero, and any generalized left derivation on this ring is a right centralizer (Theorem 2.1). Next, motivated by a result of M. Ashraf and S. Ali [1], which states that every generalized Jordan left derivation on a prime ring R whose characteristic is different from two, is a generalized left derivation, we prove that any Jordan left derivation on the ring $T_n(R)$ ($n \geq 1$) of all $n \times n$ upper triangular matrices over R is a left derivation (Theorem 2.8), and that any generalized Jordan left derivation on $T_n(R)$ is a generalized left derivation. Moreover, we show that any generalized left derivation of $T_n(R)$ is the sum of a right centralizer and a left derivation (Theorem 2.8). Some other related results

are also established.

As usual, I denotes the identity matrix, and E_{ij} denotes the usual matrix unit. Moreover, the zero elements of the rings and modules, zero subrings, and zero submodules are all denoted by 0. Recall that $E_{ij}E_{rs} = \delta_{jr}E_{is}$, where δ is the Kronecker function.

2. Main results and proofs

Theorem 2.1. Let R be a 2-torsion free ring with identity and let $n \geq 2$. Then

- (i) any Jordan left derivation (hence, any left derivation) D on the ring $M_n(R)$ is identically zero;
 - (ii) any generalized left derivation on $M_n(R)$ is a right centralizer.
- *Proof.* (i) Linearizing $D(x^2) = 2xD(x)$ and noting that $M_n(R)$ is 2-torsion free, we arrive at an equivalent expression for D which will be used frequently:
- (2.1) D(xy + yx) = 2(xD(y) + yD(x)) for all $x, y \in M_n(R)$.

Set $N = \{1, \dots, n\}$. It is easy to observe that for any (a_{rs}) in $M_n(R)$ and $i \in N$, the following conclusion holds:

(2.2) if
$$(a_{rs}) = 2E_{ii}(a_{rs})$$
, then $(a_{rs}) = 0$.

Fix $i \in N$. From $E_{ii}^2 = E_{ii}$ we get $D(E_{ii}) = 2E_{ii}D(E_{ii})$, whence, by (2.2), we have

(2.3)
$$D(E_{ii}) = 0$$
 for all $1 \le i \le n$.

Now fix $i \neq j$ in N. From $E_{ij} = E_{ij}E_{jj} + E_{jj}E_{ij}$, (2.1) and (2.3) we obtain

$$D(E_{ij}) = 2(E_{ij}D(E_{jj}) + E_{jj}D(E_{ij})) = 2E_{jj}D(E_{ij}).$$

Thus, by (2.2), $D(E_{ij}) = 0$. Combining the latter result with (2.3), we conclude that

(2.4)
$$(E_{ij}) = 0 \text{ for all } 0 \le i, j \le n.$$

Next, we show that

(2.5) for all
$$r \in R$$
 and $i \neq j$ in $N, D(rE_{ij}) = 0$.

To do this, let r be in R and fix $i \neq j$ in N. Then from $rE_{ij} = (rE_{ij})E_{jj} + E_{jj}(rE_{ij})$, (2.1) and (2.3) we obtain

$$D(rE_{ij}) = 2((rE_{ij})D(E_{jj}) + E_{jj}D(rE_{ij})) = 2E_{jj}D(rE_{ij}),$$

so, by (2.2), (2.5) holds.

In the next step we show that for any $r \in R$ and $i \in N$, $D(rE_{ii}) = 0$: Fix $i \neq j$ in N and set $E = E_{ii} + E_{jj}$. In view of (2.1), (2.4) and (2.5), we have

$$\begin{array}{rcl} D(rE) & = & D(rE_{ii} + rE_{jj}) \\ & = & D((rE_{ij})E_{ji} + E_{ji}(rE_{ij})) \\ & = & 2((rE_{jj})D(E_{ji}) + E_{ji}D(rE_{ij})) \\ & = & 0. \end{array}$$

Therefore, from $2rE_{ii} = 2rEE_{ii} = (rE)E_{ii} + E_{ii}(rE)$ and (2.3) we find that

$$2D(rE_{ii}) = (rE)D(E_{ii}) + E_{ii}D(rE) = 0,$$

so that $D(rE_{ii}) = 0$. The latter conclusion together with (2.5) and additivity of D complete the proof of (i).

(ii) Since, by (i), any left derivation on $M_n(R)$ is zero, any generalized left derivation G on this ring satisfies G(xy) = xG(y) for all x, y in $M_n(R)$. Therefore, setting G(I) = a, we have G(x) = xa for all x in $M_n(R)$.

Let R and S be 2-torsion free rings with identity, M be a 2-torsion free (R,S)-bimodule, and T be the upper triangular matrix ring $\begin{pmatrix} R & M \\ 0 & S \end{pmatrix}$ with the usual addition and multiplication of matrices. The following theorem describes the structure of Jordan left derivations of T.

Theorem 2.2. Let the ring T be as above, and let $D: T \to T$ be a Jordan left derivation. Then there exist Jordan left derivations

$$\delta: R \to R, \quad \lambda: R \to M, \quad \gamma: S \to S$$

such that $M\gamma(S) = 0$, and for every $\begin{pmatrix} r & m \\ 0 & s \end{pmatrix}$ in T,

$$D\left(\begin{array}{cc} r & m \\ 0 & s \end{array}\right) = \left(\begin{array}{cc} \delta(r) & \lambda(r) \\ 0 & \gamma(s) \end{array}\right).$$

Proof. Linearizing $D(x^2) = 2xD(x)$ and noting that T is 2-torsion free, we arrive at an equivalent expression for D which will be used frequently:

$$(2.6) D(xy+yx) = 2(xD(y)+yD(x)) for all x,y \in T.$$

Applying D on $I^2 = I$ and $E_{ii}^2 = E_{ii}$ (i = 1, 2), it is easily observed that

(2.7)
$$D(E_{11}) = D(E_{22}) = D(I) = 0.$$

Let m be in M. From $mE_{12} = E_{11}(mE_{12}) + (mE_{12})E_{11}$, (2.6) and (2.7) we find that

(2.8)
$$D(mE_{12}) = 0$$
 for all $m \in M$.

Now, let s be in S and suppose $D(sE_{22}) = (a_{ij}) \in T$. Applying D on both sides of $2sE_{22} = (sE_{22})E_{22} + E_{22}(sE_{22})$ and using (2.7), we conclude that $2a_{11} = 2a_{12} = 0$, so that $a_{11} = a_{12} = 0$. Therefore, D induces a mapping $\gamma: S \to S$ such that

(2.9)
$$d(sE_{22}) = \gamma(s)E_{22} \quad \text{for all} \quad s \in S.$$

Since D is additive, so is γ . Applying D on $s^2E_{22}=(sE_{22})^2$, we observe that $\gamma(s^2)=2s\gamma(s)$ for all $s\in S$, proving that γ is a Jordan left derivation on S.

Next, let $r \in R$ and assume that $D(rE_{11}) = (b_{ij}) \in T$. Then from $2rE_{11} = (rE_{11})E_{11} + E_{11}(rE_{11})$, (2.6), (2.7) and using the torsion assumption on S, we see that $b_{22} = 0$, whence D induces the mappings $\delta: R \to R$ and $\lambda: R \to M$ such that

(2.10)
$$D(rE_{11}) = \delta(r)E_{11} + \lambda(r)E_{12}$$
 for all $r \in R$.

By a similar argument as above, one can show that δ and λ are also Jordan left derivations. Now, in view of (2.8), (2.9) and (2.10), for

every
$$\begin{pmatrix} r & m \\ 0 & s \end{pmatrix}$$
 in T we have

$$D\begin{pmatrix} r & m \\ 0 & s \end{pmatrix} = D(rE_{11}) + D(mE_{12}) + D(sE_{22})$$
$$= \delta(r)E_{11} + \lambda(r)E_{11} + \gamma(s)E_{22}$$
$$= \begin{pmatrix} \delta(r) & \lambda(r) \\ 0 & \gamma(s) \end{pmatrix}.$$

Finally, to prove that $M\gamma(S) = 0$, let $m \in M$ and $s \in S$ be arbitrary. Then, in view of (2.8) and (2.9), applying D on both sides of $(ms)E_{12} = (mE_{12})(sE_{22}) + (sE_{22})(mE_{12})$, we obtain

$$0 = 2((mE_{12})D(sE_{22}) + (sE_{22})D(mE_{22}))$$

= $2(mE_{12})(\gamma(s)E_{22})$
= $2(m\gamma(s))E_{12}$,

so that, by the torsion assumption on M, $m\gamma(s) = 0$.

The following corollary is immediate:

Corollary 2.3. Let T and D be as above and assume that M is a faithful right S-module. Then $\gamma = 0$.

Our next goal is to describe Jordan left derivations of $T_n(R)$. To do this, the following lemma is needed.

Lemma 2.4. Let R be any ring, $n \ge 1$, and let $\delta : R \to R^n$ be a Jordan left derivation. Then, considering R^n as a left R-module, there exist Jordan left derivations $\delta_1, \dots, \delta_n : R \to R$ such that

$$\delta(r) = (\delta_1(r), \cdots, \delta_n(r))$$
 for all $r \in R$.

Proof. Obviously, δ determines additive mappings $\delta_i : R \to R, 1 \le i \le n$, such that for every r in $R, \delta(r) = (\delta_1(r), \dots, \delta_n(r))$. Now, we have

$$(\delta_1(r^2), \dots, \delta_n(r^2)) = \delta(r^2) = 2r\delta(r)$$

$$= 2r(\delta_1(r), \dots, \delta_n(r))$$

$$= (2r\delta_1(r), \dots, 2r\delta_n(r)).$$

In [13], the author has proved that if R is a 2-torsion free ring with identity, $n \geq 2$, and D is a Jordan derivation on $T_n(R)$, then D is a derivation. The following theorem together with the example given below show however that the situation for the case when D is a Jordan left derivation is not much the same.

Theorem 2.5. Let R be a ring with identity, $n \geq 1$, and assume that D is a Jordan left derivation on $T_n(R)$. Then there exist Jordan left derivations $\delta_i : R \to R, 1 \leq i \leq n$, such that

$$D(a_{ij}) = \sum_{j=1}^{n} \delta_j(a_{11}) E_{1j}$$
 for all $(a_{ij}) \in T_n(R)$.

In particular, if R is a prime ring of characteristic not 2, then D is a left derivation.

Proof. By [1], for n=1 there is nothing to prove. So, let $n \geq 2$. Then we have the obvious ring isomorphism

$$T_n(R) \cong \left(\begin{array}{cc} R & R^{n-1} \\ 0 & T_{n-1}(R) \end{array} \right),$$

where R^{n-1} is considered as an $(R, T_{n-1}(R))$ -bimodule with the obvious scaler multiplications. Since R^{n-1} is a faithful right $T_{n-1}(R)$ -module, in view of Theorem 2.2, Corollary 2.3, and upon identifying the matrix rings above, there exist Jordan left derivations $\delta: R \to R$ and $\lambda: R \to R^{n-1}$ such that for every $(a_{ij}) \in T_n(R), D(a_{ij}) = \delta(a_{11})E_{11} + \lambda(a_{11})E_{12}$. By Lemma 2.4, λ decomposes into a product of n-1 Jordan

left derivations $\lambda_1, \dots, \lambda_{n-1}$ on R. Now, set $\delta_1 = \delta$ and $\delta_j = \lambda_{j-1}$ for all $j = 2, \dots, n$.

For the special case when R is prime and $\operatorname{char} R \neq 2$, note that, by Theorem 3.2 in [1], each δ_i (hence D) is a left derivation.

Remark 2.6. Let R be a prime ring of characteristic not equal to 2 and assume that the ring $T_n(R)$ admits a nonzero Jordan left derivation. Then the theorem above and Corollary 3.2 in [1] imply that R is commutative.

Example 2.7. Let R be a ring and assume that R admits a Jordan left derivation δ that is not a left derivation (see Example 1.1 in [25]), and let $n \geq 2$. Then it can be easily verified that the mapping $D: T_n(R) \to T_n(R)$ given by

$$D(a_{ij}) = \sum_{j=1}^{n} \delta(a_{11}) E_{1j} \quad \text{for all} \quad (a_{ij}) \in T_n(R)$$

is a Jordan left derivation that is not a left derivation.

Now we are ready to prove our last result:

Theorem 2.8. Let R be a prime ring of characteristic not 2, D be a Jordan left derivation on $T_n(R)$ $(n \ge 1)$, and let G be a generalized Jordan left derivation on $T_n(R)$ associated with D. Then G is a generalized left derivation and there exists a (unique) right centralizer F on $T_n(R)$ such that G = F + D.

Proof. Note that by Theorem 2.5, D is a left derivation. Linearizing $G(x^2) = xG(x) + xD(x)$, we find that

(2.11)
$$G(xy + yx) = xG(y) + yG(x) + xD(y) + yD(x)$$

for all $x, y \in T_n(R)$. Put a = G(I). So, from (2.11) and the fact that D(I) = 0, it follows that, for each x in $T_n(R)$, we have

$$2G(x) = G(2x) = G(Ix + xI)$$

= $IG(x) + xG(I) + ID(x) + xD(I)$
= $G(x) + xa + D(x)$.

That is,

(2.12)
$$G(x) = xa + D(x) \text{ for all } x \in T_n(R).$$

Therefore noting that D is a left derivation, for every $x, y \in T_n(R)$, we have

$$G(xy) = (xy)a + D(xy)$$

$$= x(ya) + xD(y) + yD(x)$$

$$= x(ya + D(y)) + yD(x)$$

$$= xG(y) + yD(x).$$

Thus G is a generalized left derivation associated with D. Now, (2.12) shows that G = F + D, where F is the right centralizer induced by the matrix a = G(I). The uniqueness of F is evident.

Remark 2.9. Although any left derivation D on any ring R is a generalized left derivation (associated with D itself), the proof of the theorem above shows that in general the converse is not true: simply let D be a left derivation on $T_n(R)$, and let a be a nonzero matrix in $T_n(R)$. Then the mapping

$$G: T_n(R) \to T_n(R), \ x \mapsto xa + D(x) \ (x \in T_n(R))$$

is a generalized left derivation (associated with D) for which $G(I) = a \neq 0$, whence G is not a left derivation.

Acknowledgment

The author expresses his sincere thanks to the referee because of reading the manuscript carefully and valuable suggestions.

References

- M. Ashraf and S. Ali, On generalized Jordan derivations in rings, Bull. Korean Math. Soc. 45 (2008), no. 2, 253–261.
- [2] M. Ashraf and N. Rehman, On Lie ideals and Jordan left derivations of prime rings, *Arch. Math. (Brono)* **36** (2000), no. 3, 201–206.
- [3] K. I. Beidar, M. Brešar, M. A. Chebator and W. A. Martindale 3rd, On Herstein's Lie map conjectures II, *J. Algebra* **238** (2001), no. 1, 239–264.
- [4] D. Benkovič and D. Ermita, Characterizing left centralizers by their actions on a polynomial, *Publ. Math. (Debrecen)* **64** (2004), no.3-4, 343–351.
- [5] D. Benkovič, D. Eremita and J. Vukman, A characterization of the centroid of a prime ring, *Studia Sci. Math. Hunger.* **45** (2008), no. 3, 379–394.
- [6] M. Brešar, Jordan derivations on semiprime rings, Proc. Amer. Math. Soc. 104 (1998), no. 4, 1003–1006.
- [7] M. Brešar, On the distance of the composition of two derivations to the generalized derivations, *Glasgow Math. J.* **33** (1991), no. 1, 89–93.

[8] M. Brešar and J. Vukman, Jordan derivations on prime rings, Bull. Austral. Math. Soc. 37 (1998), no. 3, 321–322.

- [9] M. Brešar and J. Vukman, On left derivations and related mappings, Proc. Amer. Math. Soc. 110 (1990), no. 1, 7–16.
- [10] J. M. Cusack, Jordan derivations on rings, Proc. Amer. Math. Soc. 53 (1975), no. 2, 321–324.
- [11] Q. Deng, On Jordan left derivations, Math. J. Okayama Univ. 34 (1992) 145–147.
- [12] M. Fošner and J. Vukman, An equation related to two-sided centralizers in prime rings, Houston J. Math. 35 (2009), no. 2, 353–361.
- [13] N. M. Ghosseiri, Jordan derivations of some classes of matrix rings, *Taiwanese J. Math.* 11 (2007), no. 1, 51–62.
- [14] I. N. Herstein, Jordan derivations of prime rings, Proc. Amer. Math. Soc. 8 (1957) 1104–1110.
- [15] B. Hvala, Generalized derivations in rings, Comm. Algebra 26 (1998), no. 4, 1147–1166.
- [16] W. Jing and S. Lu, Generalized Jordan derivations on prime rings and standard operator algebras, *Taiwanese J. Math.* 7 (2003), no. 4, 605–613.
- [17] K. W. Jun and B. D. Kim, A note on Jordan left derivations, Bull. Korean Math. Soc. 33 (1996), no. 2, 221–228.
- [18] J. Vukman, An identity related to centralizers in semiprime rings, Comment. Math. Univ. Carolin. 40 (1999), no. 3, 447–456.
- [19] J. Vukman, A note on generalized derivations of semiprime rings, *Taiwanese J. Math.* 11 (2007), no. 2, 367–370.
- [20] J. Vukman, Jordan left derivations on semiprime rings, Math. J. Okayama Univ. 39 (1997) 1–6.
- [21] J. Vukman, On left Jordan derivations of rings and Banach algebras, Aequationes Math. 75 (2008), no. 3, 260–266.
- [22] J. Vukman and M. Fošner, A characterization of two-sided centralizers on prime rings, *Taiwanese J. Math.* 11 (2007), no. 5, 1431–1441.
- [23] J. Vukman and I. Kosi-Ulbl, Centralisers on rings and algebras, Bull. Austral. Math. Soc. 71 (2005), no. 2, 225–234.
- [24] J. Vukman and I. Kosi-Ulbl, On centralizers of semisimple H^* -algebras, $Taiwanese\ J.\ Math.\ 11\ (2007),\ no.\ 4,\ 1063–1074.$
- [25] S. M. A. Zaidi, M. Ashraf and S. Ali, On Jordan ideals and left (θ, θ) -derivations in prime rings, *Int. J. Math. Math. Sci.* **37** (2004) 1957-1964.
- [26] B. Zalar, On centralizers of semiprime rings, Comment. Math. Univ. Carolin. 32 (1991), no. 4, 609–614.

Nader M. Ghosseiri

Department of Mathematics, University of Kurdistan, P.O. Box 416, Sanandaj, Iran Email: mnghosseiri@yahoo.com; mnghosseiri@uok.ac.ir